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200/10 10 15 200 30

Kpyna pucoBas 44 44 0,044 | 63,6 |2,7984
Mornoko 100 100 0,1 48 4,8
Caxap-necok 6 15 21 0,021 40 0,84
Conb 0,7 0,7 |0,0007 12 0,0084
Macno cnvMeoYHoe 10 10 20 0,02 450 9
Cblp pocCUNCKMIA 16 16 0,016 420 6,72
Yan 1-ro copTa 0,5 0,5 |0,0005| 495 |0,2475
Xneb nweHnYHbIN 30 30 0,03 41,7 1,251
JINMOH cBEXUI 8 8 0,008 230 1,84
®pyKThl cBEXME ( A6M0KO) 200 200 0,2 74 14,8
NToro 42,305
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106 /10 50 200 10 30 200
Sitia 80 80 0,08 127,5 10,2
Mosoko 30 100 130 0,13 48 6,24
Coub 2 2 0,002 12 0,024
MacJjio CIUBOYHOE 14 1,8 10 25,8 0,0258 450 11,61
["oporek 3e71. KOHCEPBUPOBAHHBIH 77 77 0,077 | 83,08 |6,39716
Kodeitaplit HaMUTOK 5 5 0,005 330 1,65
Caxap-Tmiecok 20 20 0,02 40 0,8
X1e0 MIICHHYHBINA 30 30 0,03 41,7 1,251
banaH kamnOpoBaHHBIN 200 200 0,2 92 18,4
Uroro: 56,5722
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60 90/90 150 200/7 10 20 30
Kanycra kBaiieHast 85,6 85,6 0,086 77 6,622
duse MUHTAs 3aMOPOKEHHOE 116,1 116,1 0,1161 | 276 32,0436
Mopxkosb 10 01.01. 48,15 48,15 0,04815 | 0 0
Mopxkosb mocire 01.01 50,4 50,4 0,0504 | 27 1,3608
JIyk pernyatsiii 20,07 20,07 0,02007 | 22 0,44154
Tomar-niacta 7,2 7,2 0,0072 | 62,8 0,45216
Maco pactuTenabHOe 9 9 0,009 82,6 0,7434
Caxap-1ecox 3,6 15 18,6 0,0186 |40 0,744
Coub 3 1,5 4,5 0,0045 |12 0,054
JIaBpOBBI JTUCT 0,002 0,002 0,00002 | 390 0,0078
Kaprodens ¢ 01.09.-31.10. 171 171 0,171 0 0
Kaprodens ¢ 01.11.-31.12 183,2 183,2 0,1832 0
Kaprodens c¢01.01. o 28-29.02 197,3 197,3 0,1973 |24 4,7352
C 1 mapra 213,8 213,8 0,2138 0
Mosioko 23,7 23,7 0,0237 | 48 1,1376
Maciio cIMBOYHOE 5,3 10 15,3 0,0153 | 450 6,885
Yaii 1-ro copra 0,5 0,5 0,0005 | 495 0,2475
JIuMoH cBexuit 8 8 0,008 230 1,84
X71e0 NIIeHnYHBINA 20 20 0,02 41,7 0,834
X11eb pxkaHoi 30 30 0,03 41,7 1,251
Horypr 125 125 1 17 17
Uroro: 76,3996
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200/40 200 10 30 200

TBopOT HEXHUPHBII 142.8 142,8 | 0,1428 260 | 37,128
Kpyra mannas 10 10 0,01 39,5 0,395
Caxap mecok 20 20 40 0,04 40 1,6
Sl6moKku cBexue 65,8 10 200 275,8 | 0,2758 74 | 20,4092
Cous 1 1 0,001 12 0,012
Slitna 10 10 0,01 127,5 1,275
CMmerana 4 4 0,004 175 0,7
Maco pactuTeabHOe 4 4 0,004 82,6 | 0,3304
MOoJI0KO CTyIIIEHHO® 40 40 0,04 202,6 8,104
Cyxapu 4 4 0,004 76,5 0,306
Kaxkao moporok 4 4 0,004 201 0,804
MoiJioko 100 100 0,1 48 4.8
Macio ciauBO4YHOE 10 10 0,01 450 45
XJ1€0 IIIIeHUYHBIA 30 30 0,03 41,7 1,251

Hroro:

81,6146
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180 200 10 30 200
MaxkxapoHbI 65 65 0,065 29,8 1,937
Cous 2,3 2,3 | 0,0023 12| 0,0276
Macno cauBo4YHOE 12,6 10 22,6 | 0,0226 450 10,17
Sita 26 26 0,026 127,5 3,315
Mouoko 33 33 0,033 48 1,584
Crip 14,5 145| 0,0145 420 6,09
Maco pactuTenabHOe 4 4 0,004 82,6 | 0,3304
Yaii 1-ro copra 0,5 0,5| 0,0005 495 | 0,2475
Caxap-necok 15 15 0,015 40 0,6
Xi1€0 IIIeHNYHBII 30 30 0,03 41,7 1,251
banan xannOpoBaHHBIN 200 200 0,2 92 18,4

Hroro:

43,9525
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60 90/180 200 30 200

Kamycra kBameHHas 85,6 85,6 | 0,0856 78| 6,6768
Mopxkosb 1001.01 18 18 0,018 0 0
MopxkoBb mocite 01.01 19,2 19,2 | 0,0192 27| 0,5184
JIyk peruaTerit 14,4 14,4 | 0,0144 22| 0,3168
Tomar-mmacra 3,6 3,6 | 0,0036 62,8 | 0,22608
Maciio pacTuTenbHOe 12,6 12,6 | 0,0126 82,6 | 1,04076
Cous 3,6 3,6 | 0,0036 12 | 0,0432
Bpoiinep mpImieHOK OXTax . 192 192 0,192 155 29,76
Kpyma pucoas 63 63 0,063 63,6 | 4,0068
CyxohpyKThI 20 20 0,02 78 1,56
Caxap 20 20 0,02 40 0,8
JIuMoHHas KHUcI0Ta 0,2 0,2 | 0,0002 230 0,046
Xi1€0 IIIIeHNYHBII 30 30 0,03 41,7 1,251
SI6oKo0 ce3oHHOE 200 200 0,2 74 14,8

61,0458
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200 10 15 200 30 200
Kpyna mmennas 40 40 0,04 38 1,52
Monoko 100 100 0,1 48 48
Coub 1 1 0,001 12 0,012
Caxap-Tiecox 6 15 21 0,021 40 0,84
Macio cauBo4YHOE 10 10 20 0,02 450 9
ChIp poccuickmii 16 16 0,016 420 6,72
Yaii 1-ro copta 0,5 0,5| 0,0005 495 | 0,2475
X1e0 MIIeHUnYHbIH 30 30 0,03 41,7 1,251
JInmon 8 8 0,008 230 1,84
SI060K0 ce30HHOE 200 200 0,2 74 14,8

Uroro:

41,0305
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200 10 30 20
106/12?0 - 80 0,08 127,5 10,2
o 30 100 130 0,13 48 6,24
o 2 2 0,002 12 0,024
s 63,6 63,6 0,064 123 7,872
Hxkpa kabaukoBast ,
M : 14 10 24 0,024 450 10,8
acjI0 CIIMBOYHOE ; e i Yoy
Kakao mopomok 23 = : " °
e i 30 30 0,02 41,7 0,834
o HmeHHIIHHH 20 20 0,02 41,7 0,834
>5He6 . 125 125 1 12 12
T 49,608
Hroro
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60 90/5 150 15 30 200 150
Kamycra 6GeokouanHast 86 86 0,086 22 1,892
Mopxkoss j10 01.01 2,1 2,1 0,0021 0
MopxkoBb mocite 01.01 1,6 1,6 | 0,0016 27| 0,0432
Towmar nacra 25-30% 1,5 15| 0,0015 62,8 | 0,0942
Myka nieHuIHas 0,7 0,7 | 0,0007 25| 0,0175
l'oBsimmHa 1-0it kareropuun 90 90 0,09 380 34,2
Xneb mieHnYHbIH 16,2 30 46,2 | 0,0462 41,7 | 1,92654
Mooko 22 22 0,022 48 1,056
Cous 0,6 4 0,1 4,7 | 0,0047 12 | 0,0564
Jlyk permuaThIii 2,9 10,7 13,6 | 0,0136 22 | 0,2992
Cyxapu NieHUYHbIC 9 9 0,009 76,5| 0,6885
Macio pactuTeabHOe 5,4 54| 0,0054 82,6 | 0,44604
Slitmo 0 0 127,5 0
Macio ciauBO4YHOE 2,1 5 0,53 7,63 | 0,00763 450 | 3,4335
Bepmenrenn 51 51| 0,0051 29,8 | 0,15198
ColIp poccuiickuit 16 16 0,016 420 6,72
Yaii 1-ro copra 0,5 0,5 0,0005 495 | 0,2475
Caxap 1,8 15 16,8 | 0,0168 40 0,672
DpyKTHI CBEKHUE STOTOKU 150 150 0,15 74 111

63,0446
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200/40 200 10 30 125

TBOpOT HEKHUPHBIHA 188 188 0,188 260 48,88
Kpyna mannas 12 12 0,012 39,5 0,474
Caxap-Tiecox 16 20 36 0,036 40 1,44
sTitno 8 8 0,008 127,5 1,02
MOoJIOKO CTyIIEHHOE 40 40 0,04 202,6 8,104
Cous 0,9 0,9 0,0009 12 | 0,0108
Banwnuu 0,04 0,04 | 0,00004 330 | 0,0132
Macio ciIuBO4YHOE 8 10 18 0,018 450 8,1
Cyxapu MaHUPOBOYHBIC 8 8 0,008 76,5 0,612
CMmerana 8 8 0,008 175 1,4
Kodeitapiii HanmuToK 5 5 0,005 330 1,65
MoiJtoko 100 100 0,1 48 4.8
Xi1€0 IIIIeHNYHBII 30 30 0,03 41,7 1,251
Worypr 125 125 1 12 12
Uroro: 89,755
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60 90/5 150 200/7 10 20 30 200

Csexia o 01.01. 56,3 56,3 | 0,0563 0
Csexia ¢ 01.01 60 60 0,06 21 1,26
Jlyk peruaTsiit 12,5 125| 0,0125 22 0,275
Tomar-tracta 25-30% 6 6 0,006 62,8 | 0,3768
Opoiltep-IbITUIEHOK 153 153 0,153 240 36,72
Xneb mieHuuHbIH 16,8 20 36,8 | 0,0368 41,7 | 1,53456
Mooko 21,38 21,38 | 0,02138 48 | 1,02624
Cous 3,38 0,8 4,18 | 0,00418 12 | 0,05016
Cyxapu MaHUPOBOYHBIC 9 9 0,009 76,5| 0,6885
Maco pactuTeabHOe 4.5 5,4 9,9| 0,0099 82,6 | 0,81774
Macno cauBoYHOE 5,6 5 10 20,6 | 0,0206 450 9,27
Kpymna rpeunesas 37,5 37,5| 0,0375 76 2,85
Yaii 1-ro copra 0,5 0,5 0,0005 495 | 0,2475
Caxap-necok 0,7 15 15,7 | 0,0157 40 0,628
JIuMOH cBexuit 8 8 0,008 230 1,84
Xneb prkaHon 30 30 0,03 41,7 1,251
banan xannOpoBaHHBIN 200 200 0,2 92 18,4

Hroro:

77,2355
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90/90 150 10 15 200 30 30 125
Maciio cauBo4YHOE 5,3 10 15,3 | 0,0153 450 6,885
ChIp poccuiickuii 16 16 0,016 420 6,72
Mopxkosb 110 01.01. 48,15 48,15 | 0,04815 0
Mopxkosb mociie 01.01. 50,4 50,4 | 0,0504 27| 1,3608
Jlyk peruaTsrit 20,07 20,07 | 0,02007 22 | 0,44154
Tomar-niacta 7,2 7,2 0,0072 62,8 | 0,45216
Cous 3,6 15 51| 0,0051 12| 0,0612
Caxap-Tiecok 3,6 15 18,6 | 0,0186 40 0,744
Dute MUHAS OXJTAXKI. 116,1 116,21 | 0,1161 276 | 32,0436
Xi1€0 MIIeHNYHBII 30 30 0,03 41,7 1,251
Mouoko 23,7 23,7 | 0,0237 48 | 1,1376
Maco pactuTeabHOe 9 9 0,009 82,6 | 0,7434
Kaprodens c01.09. -31.10 171 171 0,171 0
Kaprodens ¢ 01.11 mo 31.12 183,2 183,2 | 0,1832
Kaprodens ¢ 01.01 mo28.02 197,3 197,3| 0,1973 24| 4,7352
kaprodens ¢ 1 mapra 213,8 213,8 | 0,2138
Yaii Iro copra 0,5 0,5 0,0005 495 | 0,2475
Xneb prkaHon 30 30 0,03 41,7 1,251
Horypr 125 125 1 12 12

70,074







